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; 100kN/m%Z#BZ5| 1.00 | 000 ~ 019| 102.76 |3mEBZB| — ~ — — — | 100kN/mi%E#Z5 | 1.00 | 11.35 ~ 11.97| 10276 |3m%E#Bz5 -~ — — —
Lt 1.00 1019 ~ 797 100.00 | =nllsy | 000 ~ 797|201 10.76 znLs 1.00 1 56.00 ~ 11.35 100.00 | =N | 5,00 ~ 1197|201 10.76
2 100kN/M%#BZ25 | 1.00 | 0.00 ~ 1.04 115.66 |3mZBRE| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 10.75 ~ 14.26| 115.66 |3m&EBZS -~ — — —
Lt 1.00 | 1.04 ~ 883 100.00 | =nllst | 000 ~ 883 2.09 11.18 znLs 1.00 | 5.00 ~ 1075 100.00 | =hLSY | 5.00 ~ 14.26 | 2.09 11.18
P 100kN/mM%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 1 000 ~ 6.35 79.87 | =S | 000 ~ 635 1.97 10.62 znLs 1.00 | 6.00 ~ 822 79.87 | EnRS | .00 ~ 822|197 10.62
4 100kN/M%Z#B % % — -~ = —|3mZEEBZB| — ~ — — — | 100kN/mM%#2Z% — - ~ — —|3mZE#BZ B -~ — — —
ZznLst 1.00 | 000 ~ 6.35 79.83 | =S | 000 ~ 635)1.97 10.62 znLs 1.00 | .00 ~ 822 79.83 | EnRS | 6,00 ~ 822|197 10.62
5 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#Z D -~ — — —
Lt 1.00 | 0.00 ~ 6.59 83.15 | #hs | 0oo ~ 000|170 9.08 znLs 1.00 | 5.00 ~ 7.96 83.15 | =N | 5.00 ~ 7.96|1.70 9.08
g 100kN/M%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#Z D -~ — — —
ZnLst 1.00 | 000 ~ 623 7820 | =S | 0.00 ~ 0.00)] 1.69 9.02 znLs 1.00 | 5.00 ~ 7.29 7820 | EnRS | 5.00 ~ 729 | 1.69 9.02
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100kN/mM%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/M%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ ThLlst ~ Zh LS ~ Zhst ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82Z % ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ Zhst ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#82Z% ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ Zhst ~
100kN/m#E#BZ % ~ ImEFERD ~ 100kN/m%#82 % ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLsh ~
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